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( rdKor 1k )

fun'k (1-2): futu thudkjh dk Tkoekuhiod ve;;u dj
,0 fn, x, i"uk d mlkj ni
J,K,L,M, N, O, PrikQ ,d ifjoklj d viB InL; gA
ifjokj e pkj i#% rfk pkj efgyk, gA ifjolj e rhu ifr]
riu TRub] nk i=h rFik nk ik gA ifjokj d 1R;d InL; viB
fofHklk jx ;F&] yky] gjk] ihyk] ukjxh] xykeh] Hk] dkyk
rfk cxuh iln djrk g yfdu t-jh ugh g fd blh Je eh
o IHih olikdkj et d pijk vij din di wij e[k djd cB
gh dkb Hb 1#% dhyk 11n ugh djrk gA THh efgyk, ,d
1Fk cBh gA

Q, xykeh 1n djrk g rFik Hjk iln dju okyk 1
foolg djrk gA J, L rFk o dk firk g ,0 O ,d 1#% g rFik
Hgk 1hn djrk gA J rRk K ,d&nlj d lefi ugh cBk gA
M, cxuh 1hn djrh g rFk viu firk d ck, 1 nljh cBh
ghM,Ldhi=h g ,0 L, viu 1=k d nk, I nljk cBk g
diyk 1hn dju okyk] ukjxh in dju oky I fookg djrk
gh uk rk J uk gh K ukjxh 1n djrk gA N, ihyk 1ln djrk
g rFik gjk ,o dkyk illn dju oky d chp cBk gA P, K dk
firk g rfk nk 1#'% InL;k d chp cBk gh
1. o,rI1dI Icf/rg\

(1) ekrk
(3) elek

(5) bue 1 dib ugh
2. fuku e I J diu&lk jx iln djrk g \

(1) cxuh (2) Hjk

(3) gk (4) yly

(5) bue 1 dkb ugh
3. futu e I diu&lk tiMk Igh Tefyr g \

(1) P - ukjxh (2) K - gjk

(3) N - ahyk (4) J - dhkyk

(5) bue 1 dkb ugh
4. futu tkp e 1 plj ,d fuf*pr rjhd 1 lelu g ,0

,d leg cukr gA futu e 1 dkuml leg 1 Icfekr

(2) firk
(4) XkM&idknj

ugh g \
(1) ihyk (2) dkyk
(3) xyich (4) gjk
(5) cxuh
5.  futu e I dbu ugxh 1ln djrk g \
(1) J (2) K
(3) L (4) P
(5) bue 1 dib ugh
Ph: 09555108888,

fun'k (6-8): futu tkudkjh dk lkokuhiod ve;;u dj
,0 fn, x, 17uk d mUkj nA
L,M, N, O, PrikQ ,d ifjolj d N% InL; gh M, N dk
i=k g] yfdu N, M dh ekrk ugh gA L rFik N fookfgr tM
gh P, N dk Hikb gA O, L dh i=lh gA Q, M dk Hikb gA
6. Ldkfdru cPPk g\

(1) ,d

(3) rhu

(5) bue I dkb ugh
7. pdhbiful diu g \

(1) L

(2) Q

(3) M

(4) fu/kfjr ugh fd;k € 1drk

(5) bue 1 dkb ugh

8. futu e I dilk Ik tkMk efgykvk dk g \

(1) LP (2) MO

(3) AQ (4) LO

(5) bue I dib ugh
fun'k (9-12): futu tkudkjh dk Tkoekuhiod vé; ;u dj
,0 fn, x, i*uk d mlkj n
lir f'i{ld M, N, O, P, Q, R rFik 'S Hir fofHilu fo'k; ;FK]
fgunh] vxth] xf.kr] foKku] Hikfrdh] jlk;u rFk thofoKku
i<ir g] yfdu t:zjhugh g blh @e e o Hirkg d fofHillk
fnuk Tkeokj I ikjHk jfookj rd i<kr gA o Bkr fofHklk jiT;k
;FI] fnYyh] feghj] ofj; kK] djy] exyij] ithc rFk jitLFbu
I Icf/r g] yfdu €zjh ugh g blh De ek

N, itic I Icf/r g rFik Drkg d pkFk fau a<krk
g] yfdu uk rk fginh uk gh thofoKkuA N rfk R d fnuk d
chp doy nk fi{kd i<kr g] rFi bue I dib Hih Trig d
gy fnu ugh i<krk gA M rfk 0 d chp ,d fi{kd 1<krk
g] yfdu o uk rk Hrig d igy uk gh rilj fnu i<krk gA
o, fcgkj 1 Rcf/r g rFik fgunh i<krk gA xf.kr i<fu okyi]
lirig d vfre fnu i<irk g ,0 og gofj;k.kk e Lcf/r gA
P,Md fru d Bhd igy ;k Bhd cn ugh i<krk g ,0 M
;hrkexylj] fnYyh sk djy 1 Lef/r ugh gh P, foKku ugh
i<irk gh s, 0 d Bid cln i<krk g rFik fnYyh I 1cf/r gh
Q, cxykj I Dcf/r ugh g ,0 jHk;u <krk gh M, ;k rk
Hikfrah ;k foKku ugh i<krk gh vxth i<tu okyk] fgnh i<ku

(2) nk
(4) pij

oty d fnu d Bhid ckn i<krk gh
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( REASONING )

Direction (1-5): Study the following
information carefully and answer the given
questions.

J,K,L, M, N, O, Pand Q are eight member of a
family. There are four males and four females
in the family. There are three husbands, three
wives, two daughters and two sons in the family.
Each member of the family likes different
colours, i.e. Red, Green, Yellow, Orange, Pink,
Brown, Black and Violet, but not necessarily in
the same order. They all are sitting around a
circular table facing towards the centre. No
male like Yellow. All females sit together.

Q likes Pink and married to the one who
likes Brown. J is father of L and O, who is a
male and likes Brown. J and K cannot sit
adjacent to each other. M likes Violet and is
sitting second to the left of her father. M is
daughter of L, who is second to the right of her
son. The one who likes Black is married to the
one who likes Orange. Neither J nor K likes
Orange. N likes Yellow and is sitting between
the one who likes Green and the one who likes
Black. P is the father of K and is sitting between
two males members.

1. How is O related to K?
(1) Mother (2) Father

(3) Maternal Uncle (4) Grandfather
(5) None of these

2. J likes which of the following colour?
(1) Violet (2) Brown
(3) Green (4) Red

(5) None of these
3. Which of the following pairs is not
correctly matched?

(1) P - Orange (2) K - Green
(3) N - Yellow (4) J - Black
(5) None of these
4. Four of the following five are alike in a

certain way and hence form a group.
Which one of the following does not belong
to that group?

(1) Yellow (2) Black
(3) Pink (4) Green
(5) Violet
S. Who among the following likes Orange?
(1) Jd (2) K
(3) L 4) P

(5) None of these
Direction (6-8): Study the following information
carefully and answer the given questions.

Ph:
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L, M, N, O, P and Q are the six members of a
family. M is the son of N, but N is not the mother
of M. L and N are a married couple. P is the
brother of N. O is the daughter of L. Q is the
brother of M.

6. How many children does L have?
(1) One (2) Two
(3) Three (4) Four

(5) None of these
7. Who is the wife of P?
(1) L
(2) Q
(3) M
(4) Cannot be determined
(5) None of these

8. Which of the following is a pair of females?
(1) LP (2) MO
(3) AQ (4) LO

(5) None of these

Direction (9-13): Study the following
information carefully and answer the given
questions.
Seven teachers M, N, O, P, Q, R and S teaches
seven different subjects, viz. Hindi, English,
Math, Science, Physics, Chemistry and Biology,
but not necessarily in the same order. They
teach on different days of the week starting from
Monday to Sunday. They belongs to seven
different states, viz. Delhi, Bihar, Haryana,
Kerala, Bangalore, Punjab and Rajasthan, but
not necessarily in the same order.

N belongs to Punjab and teaches on the
fourth day of the week, but neither Hindi nor
Biology. Two teachers teach between the days
on which N and R teach and neither of them
teach on the first day of the week. There is only
one teacher teaches between M and O, but O
does not teach either on first or third day of
the week. O belongs to Bihar and teaches Hindi.
The one who teaches Maths on the last day of
the week belongs to Haryana. P does not teach
on the day either immediately before or
immediately after the day on which M teaches,
who doesn't belong to either Bangalore, Delhi
or Kerala. P does not teach Science. S teaches
immediately after O and belongs to Delhi. Q does
not belong to Bangalore and teaches Chemistry.
M does not teach either Physics or Science. The
one who teaches English teach immediately
after the day the one who teaches Hindi.
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10.

11.

12.

13.

fun'k (14-18): u
mld ubp riu fu'd' I, 11 rRk 11 fn, x, gh vkidk fn;k
x;k dFku IR; ekuuk g ;fn og BoKkr riok I fHkk gk ,0

fuku e 1 dkuélk
) O - fcghkj - fglnh
JKELFtku - thofoKku
Q- dJy Jlsu
R - fcgkj - fglnh
bue 1 dkb ugh

tMk fuf*pr gh vIR; g \

(1

(2) M

(3)

(4)

(5)

futu e 1 diu Hirig d ikpo fnu i<irk g \
(1) og tf j tLFkku I Icit/r g
(2) og tk xf.kr i<krk g

(3) 0g tk fglnh |<k kg

(4) og tk djy I lIcf/r g
(5) bue 1 dkb ugh

futu e I dku foKku i<krk g \
(1) og thitic |1 Icf/rg
(2) og tk jkeLFku 1 Dct/r g
(3) og tk nykj I Icf/rg
(4) og tk gfj;k.kk 1 Bcf/r g
(5) bue 1 dkb ugh

;N feghj 1 Bef/r g rFk s, ofjsk e 1 Defér

g] ri 'm' futu e 1 fdl jiT; 1 Icf/r g\
(1) cxykj (2) itk
(3) djy (4) jitLFu

(5) bue 1 dib ugh

futu e I diu Hkfrdh i<krk g \

(1) og tk Hrig d pkFk fnu 1<krk g
(2) og tt Q d Bhd |gy i<irk g
(3) og th @ d Bnd ckn i<krk g
(4) fu/Zkfjr ugh fd;k t 1drk

(5) bue 1 dib ugh

hp fn, X, IR;d i"u e dN dFku vij

;g r; djuk g fd dFuk e fn, x, wvkdM i*u dk mlkj
nud fy, ;kr g ;kughh BHO dFkuk dk if<, vkj mlkj
nift, A

14.

dFu :

IHh uko 1 jkuk gA

IHh 1jkuk ckry gA

dN ckry dye gA

dN dye gjk gA

fu'd’

I. de&l&de dN gjk ciry gA

1. dN dye ijkuk g

111. de&l&de dN ckry uko gh

(1) dib vulj.k ugh djrk g

(2) doy 1vulj.kdjrk g
Ph:

15.

16.

17.
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(3) doy 11 vulj.kdjrk g

(4) doyIIIVU|j kdjrk g

(5) 1 vkj i1 vulj.k djr g
dFu :

dN jLIh yck g

dN yck rykc gh

IHh rykc d1h gA

IHih d Ih ydMh gA

fu'd’

I. dN ydMh fuf*pr gh yck gh
1. dN dlh jLIh gA

I11. dN rykc d jLIN giu dh DHkouk gA
(1) dib vulj.k ugh djrk g

(2) doy 1vulj.kdjrk g

(3) doy 11 vulj.kdjrk g

(4) doy 11 vulj.kdjrk g

(5) Tvij 11 vulj.k djr g
dFu

dN unh I[kk gA

dN Ik i

dN 1fuh rc gA

dN rc diMk gA

fu'd’

I. dN diM d ikuh gku dh IHkouk gA
1. dN rc d [k giu dh FHkouk gA
I11. dN ikuh unh gA

(1) dib ugh vulj.k djrk g

(2) doy 1vulj.kdjrk g

(3) doy 11 vulj.kdjrk g

(4) doy 11 vulj.kdjrk g

(5) Tvij 11 vulj.k djr g
dFu

dN ifly plol gA

IHih pko( udhyk gA

dN udhyk ekecli gh

IHh eteclih xe gh

fu'd’

I. de&l&de dN xe udhyk gh
11. dN ekeclit plo] gh

I11. de&l&de dN udhyk ifly g
) doy 1vulj.kdjrk g

doy 11 vulj.kdjrk g

doy 11 vulj.k djrk g

I vij it vulj.k djr g

bue 1 dkb ugh

(1

(2
3
(4
(5

—_— — — —
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10.

11.

12.

13.

Which of the following combinations is
definitely false?

(1) O - Bihar - Hindi

(2) M - Rajasthan -Biology

(3) Q - Kerala -Chemistry

(4) R - Bihar - Hindi

(5) None of these

Who among the following teaches on the
fifth day of the week?

(1) The one who belongs to Rajasthan

(2) The one who teaches Math

(3) The one who teaches Hindi

(4) The one who belongs to Kerala

(5) None of these

Who among the following teaches Science?
(1) The one who belongs to Punjab

(2) The one who belongs to Rajasthan

(3) The one who belongs to Banglore

(4) The one who belongs to Haryana

(5) None of these

If 'N'is related to 'Bihar' and 'S’ is related
to 'Haryana' then M is related to which of
the following state ?
(1) Bangalore

(3) Kerala

(5) None of these
Who among the following teaches Physics?

(1) The one who teaches on fourth day of
the week

(2) Punjab
(4) Rajasthan

(2) The one who teaches just before Q
(3) The one who teaches just after Q
(4) Can't be determined

(5) None of these

Direction (14-18): In each of the questions
below are given four statements followed by
three conclusions numbered I, II and III. You
have to take the given statements to be true
even if they seem to be at variance from
commonly known facts. Read all the
conclusions and then decide which of the
given conclusions logically follows the given
statements disregarding commonly known
facts.

14.

Statements:

All boats are old.

All olds are bottle.

Some bottles are pen.

Some pens are green.
Conclusions:

I. Atleast some greens are bottle.
II. Some pens are old.

Ph:

15.

16.

17.

09555108888,

III. Atleast some bottles are boat.
(1) None follows

(2) OnlyI follows

(3) Only II follows

(4) Only III follows

(5) II and III follow

Statements :

Some ropes are tall.

Some talls are pond.

All ponds are chair.

All chairs are wood.

Conclusions:

[I. Some woods are definitely tall.
II. Some chairs are rope.

III. Some ponds being rope is possibility.
(1) None follows

(2) Only I follows

(3) Only II follows

(4) Only III follows

(5) I and III follow

Statements:

Some rivers are dry.

Some dries are water.

Some waters are tent.

Some tents are cloth.
Conclusions:

[. Some clothes being water is possibility.
II. Some tents being dry is possibility.
ITII. Some waters are river.

(1) None follows

(2) Only I follows

(3) Only II follows

(4) Only III follows

(5) I and II follow

Statements:

Some pencils knife.

All knive are sharp.

Some sharps are candle.

All candles are hot.

Conclusions:

[. Atleast some hots are sharp.
II. Some candles are knife.

III. Atleast some sharps are pencil.
(1) OnlyI follows

(2) Only II follows

(3) Only III follows

(4) II and III follow

(5) None of these

099555208888 [ 4 |
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18. dFu:
IHh entu gjk gA
dib gjk IM ugh gh
dN 1M ihyk g
IHi ahyk BiQn gA
fu'd’
1. IHA TiQn entu gA
11. dib Tiln enku ugh gA
1. dN TiQn iM gA
(1) doy 1 vulj.kdjrk g
(2) doy 11 vulj.kdjrk g
(3) doy 111 vuIJ L djrk g
4) ; k1 vulj.k djrk g
(5) ;k k1 kII rrk 1ir vulj.k djr g
fun'k (19-23): futu thudkjh dk Bkokuhiod WVeé;;u

22. FrikEd chp fdru 0;fDr cB g] ;fn Fd nk, |

fxuk €k, \

(1) ,d (2) ru
(3) 1kp (4) nk
(5) plj

23. futu tkp e I plj ,d fuf*pr rjhid 1 letu g ,0
,d leg cukr g futu e I diuml leg I Icféir

ugh g \

(1) C (4) A
(2) H (5) B
(3) D

fun'k (24-28) : fn, x, 1"uk e foftkiu riok d cip Icef
dFkuk e n*k, x, gh dFku] pkj fu'd"k 1, I, 101 rfk IV
d Hjk vuxeu fd;k thrk gh fn, x, dFu d vk/kj 1j
fu'd'k dk vé;;u dj vij mfpr mlkj puk

dj ,o fn, x, i"uk d mlkj nk 24. dFu:
A,B,C,D,E,F,GrFk H ,d oxidlj et d pljk wij P>Q;R>M;P>0;Q>R;N=Q
bl idkj cB g fd bue 1 pkj oxkdij et d pkj fdukjk fu'd'k:
ij] tcfd viU; plj iR;d pkj Hithvk d eé; e cB gh pljk I. R>0 II. 0>Q
fdukjk ij cBu oky dk e[k din dh wij g] tcfd ee; e 1. Q>M IV.N>P
cBu oty dke[kdin 1 ckgj dh vkj gho ka fofHillk cdk (1) doy fu'd%1IR; g
;Fi] , Bchvib] chwvieh] chvikvib] ih,uch] Bhehvib] wikjehwvib] 2) doy fu'd'r IR; g
chvk,e rFk ,pMh, 10lh e dk; dJr q] yfdu t:jh ugh 3) krkfu'd1;kir IR; g
g bt Pe ek (4) uk rk fu'd Tukgh T IR; g
F, chvikch e dk; djrk gh Frik c d chp nk 0;fr (5) doy furd' it I8; g
cBghcdie[kdindivijghE, Fdnk, I nljkcBl| o5  drw:
gA A, E d Bhd ck, cBk gh ,pMh, 10lh e di; dju okyt] A>B;C=B:E>F;A<D;B>F
Ad ck, 1 nlji cBi gt D, ,pMh,iQlh e dk; dju oky fu'd : B B
d ck, I nljk cBk g chvivib e dk; dju okyl] D d c, . C<E II. D>B
I nljk cBk gA G, chvivib e dk; dju oky dk Bhd iMkIh II.LA>F IV.E>D
gh , Ichvib e db; dju okyk] G d ck, I nljk cBk gA H, (1) doy fu'd1r IR; g
,Ichvib e dk; ugh djrk gA H rFk 1h,uch e dk; dju (2) doy fu'd' 1 IR; g
okyk ,d nlj d Bid iMklh gh vijchvib e dk; dju okyf] (3) hrkfudh1 ki Ik g
chvi,e e dk; dju oty d Bid ck, cBk gh A, vijchvib (@) fud’h 1 vij 11 IR; g
e di; ugh djri gh _ (5) fu'd' 1vij 1 1%; g
19. ];liE)uce I dku chvk,e e((zj)k;DdJrk g\ 26. dFu:
(3) A (4) B ;I:jl(i,.SzU,QgT,R—S,R<T
(5) E ’
20. futu e I diu It ;r IR; g \ L P>U II. U<T
(1) E-CIVk,e (2) B-licivib .S >P V. P<T
(3) D-lichvib (4) G-chvivib (1) doy fu'd'* T 1%; g
(5) H-i, uch (2) doy fu'd'r IR; g
21. futue I diuad ci, 1 riljicBig\ (3) skrfudI sk IR; g
(1) B (2) F (4)u ri fu'druk ghat IR; g
(3) G (4) H (5) fu'd o vij v IR; g
(5) E
Ph: O9555108888, 09555208888
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18. Statements:

All fields are green.

No green is tree.

Some trees are yellow.

All yellows are white.

Conclusions:

I. Some whites are field.

II. No white is field.

III. Some whites are tree.
Only I follows
Only II follows
Only III follows
Either I or II follows

(5) Either I or II and III follow
Direction (19-23): Study the following
information carefully and answer the given
questions.
A, B, C,D, E, F, Gand H are sitting around a
square table in such a way that four of them
sit at four corners of the square table, while
others four sit in the middle of each of the four
sides. The ones who sit at four corners face
towards the centre, while those who sit in the
middle of the sides face away of the centre.
They work in eight different banks, i.e. SBI,
BOB, BOI, PNB, CBI, RBI, BOM and HDFC, but
not necessarily in the same order.

F works in BOB. Two persons sit between
F and C. C is facing towards the centre. E sits
second to the right of F. A sits immediate left
of E. The one who works in HDFC sits second to
the left of A. D sits second to the left of the one
who works in HDFC. The one who works in BOI
sits second to the left of D. G is an immealiate
neighbor of the one who works in BOI. The one
who works in SBI sits second to the left of G. H
doesn't work in SBI. H and the one who works
in PNB are immediate neighbors of each other.
The one who works in RBI sits immediate left
of the one who works in BOM. A doesn't works
in RBI.

19. Who among the following works in BOM ?

(1) € (2) D
(3) A (4) B
(5) E
20. Which of the following combination is
correct?
(1) E-BOM (2) B-CBI
(3) D-CBI (4) G-BOI
(5) H-PNB

Ph: 09555108888,

21. Who among the following sits third to the
left of A?
(1) B (2) F
(3) G (4) H
(5) E

22. How many persons are sitting between F
and E, if counted from the right of F?

(1) One (2) Three
(3) Five (4) Two
(5) Four

23. Four of the following five are alike in a
certain way and hence form a group.
Which one of the following does not belong
to that group?

(1) C (4) A
(2) H (5) B
(3) D

Direction (24-28): In these questions, the
relationship between different elements is
shown in the statement(s). The statements are
followed by four conclusions I, II, III and IV.
Study the conclusions and find the appropriate
answer.

24. Statements:
P>Q;R>M;P>0;Q>R; N=Q
Conclusions:

I. R>0O II. O>Q
III.Q>M IV.N>P

(1) Only conclusion I is true
(2) Only conclusion II is true
(3) Either conclusion I or II true
(4) Neither conclusion I nor II is true
(5) Only conclusion III is true

25. Statements:
A>B;C=B;E>F;A<D;B>F

Conclusions:
I. C<E II. D>B
II.A>F IV.E>D

(1) Only conclusion II is true

(2) Only conclusion III is true

(3) Either conclusion I or II true

(4) Conclusions II and III are true

(5) Conclusions I and II are true
26. Statements:

P>Q;S>U;Q<T; R=S;R<T

Conclusions:
I. P>U II. U<T
II1.S>P IV.P<T

(1) Only conclusion I is true

(2) Only conclusion II is true

(3) Either conclusion I or II true

(4) Neither conclusion I nor II is true
(5) Conclusions III and IV are true

099555208888 [ 6
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27. dFku:
A=B;C<D;E>C;B<D
fu'd’

I. D<B II. D>E
II.A>E IV.A>C
II.A>E IV.A>C
(1) dib IR; ugh g

(2) doy fu'd1r IR; g

(3) fudk 1wvij 11 IR; g

(4) fu'd mwvij 1ir IR; g

(5) doy fu'd%1v IR; g

28. dFfku:

Q>PR=S;U<T; Q<R;Q<V;S>T
fu'd’ :

I. S<U II. P>R
II.T<V IV.P<R

) doy fu'd%1 IR; g
) doy fu'df1v IR; g
) doy fu'd 1 IR; g
) dib IR; ugh g

(5) Hh IR; ¢
fun'k (29-33): futu thudkjh dk Bkoékuhiod Veé;;u
dj ,o fn, x, i"uk d mlkj nA
ViB cDlk A, B, C, D, E, F, G rFlk H "ii"k 1 uhp dh wij
j[kg] yfdu tzjh ugh g blh @e eh ble fofHllk I[;kvk d
xn ;F ,d] nk ru] pj] kp] N#] Bkr rFk wiB xn j[k gh
;0 cD Ik foftklk jxk dk ;Fi] yy] gj] ihyk rAk dky jx gh
Bhd nk cDIk Belu jx dk gh elu "Ik 1j j[k cDI LFu 1gyk
LFbu g

cDlk D, gjk jx dk g ,0 cDlk B d Bid nk LFlku m)ij

JI% g rRk nkuk "% d pkj LRku 1j g] tc cDI dk "% I ulp
dh wij 0;ofLFr fd;k thrk gA pkj xnk okyk cDIK] 1y jx d
cDI d Bhd uhp [k g rFk ;g cDIk D d lelu jx dk gh
cDlk ¢, DIk G rRk H d chp dgh j[ik g ,0 cDIk H, cDIk
c 1 uhp j[i gA nk diy jx d cDI dnlj d I/ j[ike
leti gh riu xnk oky cDI] cDIk F rFik N% xnk oky cDI d
chp jIk gA cDlk H e ,d xn ugh j[i gA cDI E, cDlk G
d nk LFiku Bhd uhp j[# g , ocDIkG plj xnk oty cDI d

Bhd uhp j[ gh wiB xnk okyk cDIY] le I[;k yLFuu
jltg] yfdu Icl utp ugh J[ gh Yy jx ofyk cDIk
LFku 1j j[k g ,o0 ble sk rk ,d xn ;k Hkr xn gA cDIk E
dky jx dk ugh gA cDIkFe ikp xn g ,0 ;g ity jx dk gh
nk xnk okyk cDBK] ihy jx dk gA cDlk C e ,d xn ;k viB
Xn ugh g

(1
(2
(3
(4

Ph:

09555108888,

29. futue 1 fdl cDl e nkxn g \
(1) A (2) D
(3) F (4) H
(5) bue 1 dkb ugh

30. futu e I diu Ik cDIk 1hy jx g \

(1) A, B (2) E,F
(3) B,E (4) D, G
(5 H,F

31. futu e I diu Ik dFu IR; g \

(1) cDIk B e pkj xn g ,0 ;g 1ty jx dk g
(2) cDIk G ikpo LFku ij g ,0 ;g gj jx dk g
(3) cDIkE e Ni xn g ,0 ;g yty jx dkugh g
(4) DIt H Icl up j[i g ,0 ;9 yly jx di g

(5) bue I dkb ugh
32. futue I d It ;Or IR; g \

(1) G - rhu - dkyk

(2) F - ikp - 1hyk

(3) H - nk- yty

(4) E - Nb- gjk

(5) D - VIB - ihyk
33. futue I cDlk Ge fdru xn g\

(1) lr (2) Nb
(3) riu (4) pkj
(5) VIB

fun"k (34-35): futu thudkjh dk Bkoékkuhiod vé;;u
dj ,ofn, x, i"uk d mlkj n

P,Q,R,S,U, T, V, W rkkX ukfcln, gh fcln R, fcln Q
d 2 elVj io e ghfcin P, fcln @ d 1 efVj mllj e g ,0 fcln
w, fcin P d 2 elVj nf{i.k e gA fcln v, fcln W d 1 elvj
if"pe e g] tcfd feln s, fcn vd 3 efVj io e g ,o fcin
T, fon s d 2 elVj mlkj e gh foln X, feln Q rFik feln R d
Bhd eé; e fLRr g] tcfd fcln U, fcln W rFk fcln s d Bid
eg; e gh

34. fcn U rflk fcln v.d d chp njh D;k g \
(1) 1 elVj (2) 3 elVj
(3) 2 elVj (4) 5 elVj
(5) bue I dkb ugh

35. fcn U rklkfcin X d d chp njh D;k g \
(1) 1 elVj (2) 2 elVj
(3) 3 elVj (4) 4 elVj
(5) 5 elVj
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27. Statements:
A=B;C<D;E>C;B<D
Conclusions:

I. D<B II. D>E
III.A>E IV.A>C

(1) None is true

(2) Only conclusion II is true

(3) Conclusions I and II are true
(4) Conclusions II and IIT are true
(5) Only conclusion IV is true

28. Statements:

Q>P;R=S;U<T; Q<R; Q<V;S>T
Conclusions:

I. S<U II. P>R

M. T<V IV.P<R

(1) Only conclusion I is true
(2) Only conclusion IV is true
(3) Only conclusion III is true
(4) None is true

(5) All are true

Direction (29-33): Study the following
information carefully and answer the given
questions.
Eight boxes A, B, C, D, E, F, G and H are placed
from top to bottom, but not neccesarily in the
same order. It contains different numbers of
balls, viz. One, Two, Three, Four, Five, Six,
Seven and Eight. These boxes are of different
colours, viz. Red, Green, Yellow and Black.
Exactly two boxes are of same colour. Consider
the box kept at top as first position.

Box D is of Green colour kept two places
above Box B and both are in the top four
positions, when boxes are arranged from top to
bottom. The box containing Four balls is kept
immediately below Yellow colour box and is of
same colour as Box D. Box C is kept somewhere
between Box G and H and Box H is kept below
Box C. The two Black boxes are kept vertically
adjacent to each other. The box containing
three balls is kept exactly middle between Box
F and the box containing Six balls. H doesn't
contain One ball. Box E kept two places below
the Box G, which is kept immediately below the
Box containing Four balls. The Box containing
Eight balls is placed at even numbered place,
but is not placed at the bottom. The Red colour
box is kept at the top either contains One ball
or Seven balls. Box E is not of Black colour. Box
F contains Five balls and is of Yellow colour.
The Box containing Two balls is Yellow colour.
C doesn't contain One balls or Eight balls.

Ph:

09555108888,

29. Which of the following Box contains Two
balls?
(1) A (2) D
(3) F (4) H
(5) None of these
30. Which of the following Box is of Yellow
colour?
(1) A,B (2) E,F
(3) B,E 4) D,G
(5) H, F
31. Which of the following statements is true?
(1) Box B contains Four balls and is of
Yellow colour
(2) Box G is placed at fifth position and is
of Green colour
(3) Box E contains Six balls and is not of
Red colour
(4) Box H is placed at bottom and is of Red
colour
(5) None of these
32. Which of the following is correctly
matched?
(1) G - Three - Black
(2) F - Five - Yellow
(3) H- Two - Red
(4) E - Six - Green
(5) D - Eight - Yellow
33. Box G contains which of the following
number of balls?
(1) Seven (2) Six
(3) Three (4) Four
(5) Eight

Direction (34-35): Study the following
information carefully and answer the given
questions.

P,Q, R, S, U, T, V, Wand X are nine points.
Point R is 2 m east of point Q. Point Pis 1 m
north of point Q and point W is 2 m south of
point P. Point V is 1 m west of point W, while
point S is 3 m east of point V and point T'is 2 m
north of point S. Point X is situated just in
middle of point Q and point R, while point U is
just in middle of point W and point S.

34. What is the distance between point U and
point V is?
(1) 1m (2) 3 m
(3) 2m (4) S5m
(5) None of these
35. What is the distance between point U and
point X is?
(1) 1m (2) 2m
(3) 3m (4) 4 m
(5) Sm
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( 1[:ked wiHk:ki; rk )

fun'k (36 - 40) : futufyf[kr 1*uk e 1"u fplg (?) ol
LFkku 1) yxHkx Dk eku vk, xk\ (vkidk vif{kr eku dh

X.kuk djuk vko®;d ugh g)

36. 599.95dk 18% + 450.02 di 27.9%
(1) 287 (2) 234
(3) 315 (4) 198
(4) 164

37. (48.97)2-(41.95)2=7?
(1) 985 (2) 569
(3) 776 (4) 839
(5) 637

38. 15.02x 12.01 +41.11x21.1="?
(1) 1125 (2) 1098
(3) 1132 (4) 1032
(5) 1041

7.07

39. 78398 * 599~
(1) 4 (2) 25
(3) 1 (4) 43
(5) 6

40. 441. 01 232.99 + 1649.99 = ? + 1225.92
(1) 602 (2) 632
(3) 662 (4) 692
(5) 722

fun’k (41-45) : fuku olk wkj[k ,0 rifydk dk ¢;kuiod
v‘;;u dj ,o fn, X, i'ukdekj ni
VIj [k ikp fofHllk Vhek e dy f[ ;hdh Ik d
|frk r forj.k ,o0 rifydk chc I[ rF f[kny;kdk
ifr*ir] feldh vi; 18 o'k 1 de g] dk n"lkrk gA
flkykM;k dh dy I[;k= 1100

VALVEY ;k
33%

Vie |cvycrtk o 1pzk| 180 1 ded
F[kyiM ;K dlioe
Hkkjl’ 180 32%
VILVEy 5 265 10%
byM 72 -
Jhydi 87 5%
iifdLriu . 25%

Ph:

09555108888,

41. Hkjr e xncktk dh I[' 95 g] rk mlh Vie e 18 0'%

I de d f[kyttM;k dn B[ ;k Kkr djA
(1) 93 (2) 88
(3) 72 (4) 110
(5) bue 1 dib ugh
42. ;M Jyd e flkykiM;k dh dy B[k 187 g] rk Hijr]

VILVEY ;K yd e ,d HF xnckth dh dy I[;k
Kir djA
(1) 293 (2) 301
(3) 268 (4) 195

(5) bue 1 dib ugh

43. ;f affdLriu e cYycktk rfk xnckek dh 1[;kvk d
chp vuilr 6 : 5 g] rk 18 0% 1 vf/d rik 18 o'

I de cYycith dh I[;kvk d chp vuikr Kir djA
(1) 1:3 (2) 2:3
3) 3:1 (4) 1:2

(5) bue I dib ugh

44, Hijr rfk Jydie ,d |ka [yt dh dy 13k ,0

bxyM rRk wviLVfy;k e ,d D cYycitt dh dy
1[;kvk d chp vrj D kg \

(1) 50 (2) 45

(3) 37 (4) 125

(5) bue 1 dib ugh
45. ;fn aifdLriu e cYycktk rfk xnckek dh 1[;kvk d
chp vuikr 7 : 4 g] rk IHh Vhek e ,d HiF cYychtk
dh yxHx vilr B[;k Kir djA
(1) 147 (2) 135
(3) 129 (4) 117
(5) bue 1 dib ugh
fun*k (46-50) : futu iR;d I[;k I[kyk e i"u fplg (\)
d LFku 1j Dk wviuk pkfg, \

46. 3.5 8 155 26 39.5 ?
(1) 65 (2) 50.5
(3) 56 (4) 67
(5) 61.5

47. 2 7 19.5 50.75 °?
(1) 12.8875 (2) 128.875
(3) 1288.75 (4) 132.875
(5) 128.25

48. 1020 776 564 ? 236 120
(1) 384 (2) 388
(3) 380 (4) 378
(5) 376

099555208888 [ 9 |
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( QUANTITATIVE

APTITUDE )

Direction (36-40): What approximate value will
come in place of the question mark (?) in the
following question?(You do not have to
calculate the exact value).

36. 18% of 599.95 +27.9% of 450.02
(1) 287 (2) 234
(3) 315 (4) 198
(4) 164

37. (48.97)*-(41.95)2="7?
(1) 985 (2) 569
(3) 776 (4) 839
(5) 637

38. 15.02x 12.01+41.11x21.1="?
(1) 1125 (2) 1098
(3) 1132 (4) 1032
(5) 1041

39. \/783.98 * 599~ "
(1) 4 (2) 25
(3) 12 (4) 43
(5) 65

40. 441.01-232.99 + 1649.99 = ? + 1225.92
(1) 602 (2) 632
(3) 662 (4) 692
(5) 722

Direction (41-45): Study the following pie
chart and table carefully and answer the
given questions.

Pie-chart shows the percentage distribution of
total number of players in five different teams
and table shows the number of batsman and
percentage of players whose age is under 18
years.

Total number of players = 1100

Australia
33%

% of players
Team Number of batsman
under 18 year
India 180 32%
Australia 265 10%
England 72 -
Srilanka 87 45%
Pakistan - 25%

Ph: 09555108888,

41. The number of bowlers in India is 95, then
find the number of players whose age is
under 18 years in same team.

(1) 93 (2) 88
(3) 72 (4) 110
(5) None of these

42. If the total number of players in Srilanka
is 187, then find the total number of
bowlers in India, Australia and Srilanka

together.
(1) 293 (2) 301
(3) 268 (4) 195

(5) None of these
43. If the ratio between the number of
batsman and bowlers is 6 : 5 in Pakistan,
the find the ratio between the number of
batsman whose age is above 18 years and
below 18 years.
(1) 1:3 (2) 2:
(3) 3:1 4) 1:
(5) None of these
44. What is the difference between the total
number of players in India and Srilanka
together and the total number of batsman
in England and Australia together ?
(1) 50 (2) 45
(3) 37 (4) 40
(5) None of these
45. If the ratio between the number of
batsman and bowlers is 7 : 4 in Pakistan,
then find the approx average number of
batsman in all the teams together.
(1) 147 (2) 135
(3) 129 (4) 117
(5) None of these
Directions (46-50) : What should come in
place of the question mark (?) in each of the
following number series ?

3
2

46. 3.5 8 155 26 39.5 ?
(1) 65 (2) 50.5
(3) 56 @) 67
(5) 61.5

47. 2 7 19.5 50.75 ?
(1) 12.8875 (2) 128.875
(3) 1288.75 (4) 132.875
(5) 128.25

48. 1020 776 564 ? 236 120
(1) 384 (2) 388
(3) 380 (4) 378
(5) 376
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49.

50.

S1.

52.

53.

54.

1 1 2 6 28 ?

(1) 348 (2) 290

(3) 174 4) 232

(5) 224

45 13.5 40.5 121.5 ? 1093.5
(1) 202.5 (2) 36.45

(3) 850.5 (4) 148.5

(5) 364.5

ugk xf.kr e 70 vd illr djrh gA og vxth e 50%
vd rfik rd"ifor e X vd kir djrh gh iR;d fo'k;
dk vi/dre vd 200 gh IH0 riu fo'k;k e ,d HiF

ugk d Hjk ikir dy 1fr'ir vd 52% g] rk rd*Dr
e mlu fdruk vd ir fd;k \

(1) 137 (2) 132

(3) 140 4) 129

(5) 142

ox dk {iily 1,296 ox elj g ,d vi;r di piMit]

ox d Kt di lg rFl vizr dh yEcib] bl dh piib

dk nk xuk gA ox d {k=kiQy rFk i
vrj D;kg\

(1) 1108 0x efVj
(3) 1320 0x efVj
(5) bue I dib ugh
,d Fy e 10 ujxh rFkk 5 yky xn gA nk xnk dk

;rd {Hily d chp

(2) 1200 0x efVj
(4) 1008 0x efVj

;InfPNd z1 1 fudkyk thrk g] rk Telu jxk d xn viu
dh ilf;drk D;k g \

1 13
V21 @ 35

19 9
(3) 53 @4 53

7
(5) 35
18 0;f0r ,d dk; dk 14 fnuk e ijk dj Idr gh 16
efgyt, mlh dk; dk 22 fnuk e 1jk dj Idrh g fdru
fnuk e 7 0;r ,0 8 efgyk, ,d LiFk mlh dk; dk ijk
dj yx \
1 15§ fnu 2 172fnu
(1) 155 (2) 17
3 29§fn 4 19ifn
(3) 295 (4) 197 Inu

(5) bue 1 dib ugh

Ph:

55.

iou] Hfuy rfi jfer @e'lk 10,500, 18,500 ,0
¥21,500 fuo™k dj ,d 0;kikj ikjHk djr gh IH Defu
le; d fy, fuo' djr gh ;fn olf'td yiHk e 1ou di
fgLlk 2,142 g] rk of'kd yitk e jfer di fgLlk D;k

g\
(1) 35,286 (2) %3,856
(3)34,186 (4) 35,286

(5) bue 1 dib ugh

fun'k (56-60) : futu j[k vkj[k dk é;kuiod vé;;u dj

,0 fn, x, i*uk d mlkj n
JI VA [k dMh dETT d N fofHillk chpk 1 Ichvkb inhvk ,
, Ichvib Dyd iji{ik e “lifey ghu oky mEefnokjk dh [ ;kv
dk n"frk g
, 1chvib Dyd « , Ichvib [kivk-m-
400
350
350 T—*
o~ 320 <’
= 300
: 250 270\’§ 240
© 230
= 200 R\QIO /
o) 200 200
L% 150 170 \1:0
~ 100 N
50
favyh ofjskk sih Leit  fegd  >kj[kM
ckp
56. jKtLFu I , Ichvib Dyd ijh{kk "Iifey ghu oky
meehnokjk dh 1[; ]>j[ M T, Ichvib Dyd ijiik e
"lifey ghu oky mEefnoljk di I[;kvk I 20% vi/d g]
ri, Ichvib Dyd i jh{kk e JktLFkku rrk inYyh 1 “lifey
gku oky meehnokjk dh [ ;kvk d chp vuikr D3k g \
(1) 4:5 2) 3:4
3) 5:6 “4) 3:4
5) 1:4
57. ;b rfk el ,d LiF , Ichvib Dyd ijk{i e

09555108888,

(I |
"lifey glu oky mEehnokjk dh dy 1[;k,0 fnYyh rRk

off sk 1, d Ik, Behvib ihvik Tji{lk e "lfey ghu
oky mEefnokjk di dy I[;kvk d chp vrj D;kg \
(1) 200 (2) 230

(3) 210 (4) 250

(5) 240

09555208888




LD

KD Campus

2007, OUTRAM LINES, 1ST FLOOR, OPPOSITE MUKHERJEE NAGAR POLICE STATION, DELHI-110009

49.

50.

51.

52.

53.

54.

1 1 2 6 28 ?

(1) 348 (2) 290

(3) 174 (4) 232

(5) 224

4.5 13.5 40.5 121.5 ? 1093.5
(1) 202.5 (2) 36.45

(3) 850.5 (4) 148.5

(5) 364.5

Neha scored 70 marks in Maths. She scored
50% marks in English and X marks in
Reasoning. Maximum marks in each
subject is 200. The overall percentage
marks obtained by Netha in all the three
subjects together is 52%, then how much
marks did she score in Reasoning ?

(1) 137 (2) 132
(3) 140 4) 129
(5) 142

The area of a square is 1,296 metres?. The

breadth of a rectangle is %rd of the side of
the square and the length of the rectangle
is twice its breadth. What is the difference
between the area of the square and the area
of the rectangle ?

(1) 1108 metre?

(2) 1200 metre?

(3) 1320 metree?

(4) 1008 metree?

(5) None of these

A bag contains 10 orange and 5 red balls.
Two balls are drawn at random, then what
is the probability that they are of the same
colour?

11 13
(1) o1 2) 55

19 9
(3) 53 (4) 53
(5) 55

18 men can finish a piece of work in 14
days. 16 women can finish the same piece
of work in 22 days. In how many days can 7
men and 8 women together to finish the
same piece of work ?

3 2

(1) 15— days (2) 17z days
5 7
5 4

(3) 29§ days 4) 195 days

(5) None of these
Ph:

55.

Pawan, Sunil and Ramit started a business
by investing ¥10,500, 18,500 and 321,500
respectively. All of the invested for equal
periods of time. If the share of annual profit
of Pwan is ¥2,142, then what is share of
Ramit in the annual profit ?

(1)%5,286 (2) 3,856

(3)%4,186 (4) 5,286

(5) None of these

Direction (56-60): Study the following line graph
carefully and answer the given questions

Line graph shows the number of candidates who
applied for SBI PO and SBI Clerk exam from six
different branches of KD Campus.

Number of candidates

56.

57.

09555108888,

SBI Clerk - SBI PO =
400
350
350 &
SQM 0
300
27& 240
250
NI
200 »
206\\ /200
140
150 17 \"/
100 120
50
0
Delhi Haryana UP MP Bihar Jharkhand
Branch
The number of candidates who applied for

SBI Clerk from Rajasthan is 20% more than
the number of candidates who applied for
SBI Clerk from Jharkhand, then what is the
ratio between the number of candidates
from Rajasthan and Delhi who applied for
SBI Clerk ?

(1) 4:5 2 3:4
3) 5:6 “4) 3:4
5) 1:4

What is the difference between the total
number of candidates who applied for SBI
Clerk from UP and MP together and the total
number of candidates who applied for SBI
PO from Delhi and Haryana together?

(1) 200 (2) 230
(3) 210 (4) 250
(5) 240
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58.

59.

60.

61.

62.

63.

“]dWmﬂFj[MldnkkMVM

iji{lk e “lfey gku oky mEetnokjk dh I [ ;kvk dk viklr

D;kg\

(1) 200 (2) 230

(3) 205 (4) 250

(5) 240

fnYyh | ,Ichvkb ihvk 1ji{lk e “fey giu oky mEefinokjk
dh I[ ;] gfj; ,1chvi kb vk 1ji{lk e "lfey glu

oky mEehnokjk I[ k1 yxHx fdruk 1frir

vigd g \

(1) 30% (2) 40%

(3) 30% 4) 42%

(5) 33%

ofj skl 1, Behvib ihvk ,0 , Ichvib Dykd iji{lk e

"ifey gku oky meetnokjk dh dy I[;K] fcglj |

,dehvib vk o , Iehvib Dyd Tji{lk e “lifey glu

oky meetnokjk dh dy B[ ;kvk dk yxHx fdruk ifrhr

g\

(1) 128% (2) 123%

(3) 142% 4) 118%

(5) 135%

,d 0;r d ikl 30 fdxk phuh g feld dN Hix di
0g 10% YiH rFik "K' dk 14% yiHk ij cprk gA bl
idij] ml ij 1j 13% dk yiHk girk gh 14% yiHk ij
cp X, phun dh ekl Kir djA

(1) 19.2 fdxk (2) 19.5 fdxk

(3) 24.2 fdxk 4) 24.2 fdxk

(5) 22.5 fdxk

,d %M dk 40 eVj yc rFk 20 elVj piM %I d enfu
d fdukjk 1j ,d 14 etVj yc jLIn I ciZk thrk gh %M
d Hjk pj x, en dk {=kiQy D;k g \

(1) 15eiVj? (2) 154 ehVj?

(3) 167 eiVj? (4) 171 ehVj?

(5) 161 elVj?

,d Fty e 7 uhy xn] 2 ukjxh xn rFk 3 xykch xn gh
3 xnk dk ;infPNd -1 1 fudkyk thrk g] 2 uhy rFik
1 xykch xnk d wiu dh ikf;drk D;k g \
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43 63
1) 550 2 550
@ = @ =
110 11
2
) 33
64. ,d jif*k ij lelunj I nk o'k d vr e p@of¥s C;ht
rFk I/4j.k Gkt d chp vrj =152 gh Gkt dh olf'%d
njD;kg\
(1) 5% 2) 7.2%
(3) 3% 4) 6.7%
(5) bue I dib ugh
65. ,d fuf*pr jif'k di A, B rik c d chp @e’lh 2 3
:5d vulkr d chp chVk thrk gA ;fn c d M
JiE ]Bd} |I‘j k 13,000 vi/d g] rkArFkk
B d Hif ke dy jif*k D;k g \
(1) ?7,500 (2) 8,000
(3) 8,200 (4) 6,800
(5) 7,700
fun’k (66-70) : futufyf[kr 1°uk e nk lefdj.k I rikkII
fn; x, gh letdj.kk dk gy dj rFk i uk of mUkj nA
mlkj n ;fn
(1) x>y (2) x>y
B)x<y (4) x<y
(5) x=y;kx rfk y d chp Lcek LFfir ugh fd;k
th Idrk gA
66. 1. 3y*-23y+40=0
II. 2x°-23x+66=0
I |
67. 1. ﬁx (x )25
II. 24y°=3y"
68. 1. 6x2—19x+15=0
II. 10y?-29y+21=0
69. I. 16X +20x+6=0
II. 10y?+38y+24=0
70. 1. 18x+18x+4=0

09555108888,

. 12y2+29y+14=0
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58.

59.

60.

61.

62.

63.

What is the average number of candidates
who applied for SBI PO from UP, MP, Bihar
and Jharkhand together ?

(1) 200 (2) 230
(3) 205 (4) 250
(5) 240

The number of candidates who applied for
SBI PO from Delhi is approximately what
percentage more than the number of
candidates who applied for SBI PO from
Haryana applied ?

(1) 30% (2) 40%
(3) 30% 4) 42%
(5) 33%

The total number of candidates who appied
for SBI PO and SBI Clerk together from
Haryana is approximately what percentage
more than the total number of candidates
who applied for SBI PO and SBI Clerk
together from Bihar ?

(1) 128% (2) 123%
(3) 142% 4) 118%
(5) 135%

A man has 30 kg of sugar, part of which he
sells at 10% profit and the rest at 14% profit.
Thus, he gains 13% on the whole. Find the
quantity sold at 14% profit.

(1) 19.2 kg (2) 19.5kg
(3) 24.2 kg (4) 24.2 kg
(5) 22.5kg

A horse is tethered to a peg with a 14 metre
long rope at the corner of a 40 m long and
20m wide rectangular grassfied. What area
of field does the horse graze ?

(1) 15 m? (2) 154 m?
(3) 167 m? 4) 171 m?
(5) 161 m?

There are 7 blue balls, 2 orange balls and 3
pink balls in a bag. 3 balls are chosen at
random, then what is the probability of the
2 blue and 1 pink balls ?

43 63
1) 220 ) 220

Ph: 09555108888,

@) 7o

1
110 @) 17

2
5) 53

64. The difference between the compound
interest and the simple interest compounded
annually at the same rate on sum of money
at the end of two years is ¥152. What is the
rate of interest per annum ?

(1) 5% (2) 7.2%
(3) 3% (4) 6.7%
(5) None of these

65. A certain amount of money is to be divided
among A, B and C in the ratioof 2 : 3 : 5
respectively. If the amount received by C is
33,000 more than the amount received by
B, then what is the total amount received
by A and B together ?

(1) 7,500 (2) %8,000
(3) 8,200 (4) 36,800
(5) 7,700

Direction (66-70) : In the following question two
equations I and II are given. Solve the equations
and answer the questions.

Give Answer if

(1) x>y (2) x>y
(B)x<y (4 x<y
(5) x = y or relation between x and y

cannot be established

66. I. 3y>-23y+40=0
II. 2x*-23x+66=0
1 5/ oy 1
67. L ﬁx (x )—5
II. 24y°=3y"
68. I. 6x*-19x+15=0

II. 10y>-29y+21=0
69. I 16x°+20x+6=0
II. 10y*+38y+24=0
70. I 18x*+18x+4=0
II. 12y%+29y+ 14=0
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(( ENGLISH LANGUAGE & COMPREHENSION )

Direction (71-80) : Read the following passage
carefully and answer the questions given below
it. Certain words are given in bold to help you
locate them while answering some of the
questions.

Indeed the western recession is really the
beginning of good news for India! But to
understand that we will have to move away for a
while from the topic of western recession to the
Japanese recession! For years the Japanese style
of management has been admired. However, over
the last decade or so, one key question has sprung
up 'if Japanese management style is as wonderful
as described then why has Japan been in a
recession for more than a decade ?'

The answer to this question is very simple.
Culture plays a very important part in shaping
up economies. What succeeds in one culture fails
in another. Japanese are basically non-
materialistic. And however rich they become,
unlike others, they cannot just keep throwing
and buying endlessly. And once they have
everything they need; there is a saturation point.
It was only when companies like Toyota realised
that they cannot keep selling cars endlessly to
their home market that they went really
aggressive in the western markets-and the rest
is history. Japanese companies grew bigger by
catering to the world markets when their home
markets shrunk.

And the markets have to shrink finally after
attaining a level of affluence! And that's great for
the world because earth needs sustainable
development. It does not need monstrous
consumers who keep consuming at the cost of
the environment and the earth. There should be
limits to growth so that consumers are not
converted into material dustbins for the profit of
a handful of corporations.

Owing to the materialistic culture
elsewhere, it was possible to keep selling newer
products to the consumers despite having existing
ones which served equally well. They were lured
through advertising and marketing techniques
of 'dustbinisation' of the customer; and then
finally, once they became ready customers, they
were given loans and credits to help them buy
more and more. When all the creditworthy people
were given loans to a logical limit, they ceased to
be a part of the market. Even this would have
been understandable if it could work as an eye
opener. Instead of taking the 'Right Step' as
Toyota did, they preferred to take a 'shortcut'. Now
banks went to the non creditworthy people and
gave them loans. The people expectedly defaulted
and the entire system collapsed.

Now like Toyota western companies will
learn to find new markets. They will now lean

Ph:
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towards India because of its common man! The
billion plus population in the next 25 years will
become, a consuming middle-class. Finally, the
world's attention will shift to the developing world.
Finally, there will be a real surge in income of
these people and in the next fifty odd years, one
can really hope to see an equal world in terms of
material plenty, with poverty being almost
nonexistent! And this will happen not by selling
more cars to Americans and Europeans. It will
happen by creating markets in India, China,
Latin America and Africa, by giving their people
purchasing power and by making products for
them.

The recession has made us realise that it
is not because of worse management techniques,
but because of limits to growth. And they will
realise that it is great for planet earth. After all,
how many cars and houses must the rich own
before calling it enough ? It's time for them to
look at others as well. Many years back, to
increase his own profits, Henry Ford had started
paying his workers more, so that they could buy
his cars. In similar fashion, now the developed
world will pay the developing world people so that
they can buy their cars and washing machines.

The recession will kick start the process
of making the entire world more prosperous, and
lay the foundation of limits to growth in the west
and the foundation of real globalisation in the
world - of the globalisation of prosperity. And one
of its first beneficiaries will be India.

71. What does the author mean by the "Right

Step" in the passage ?

(1) Giving loans to creditworthy people only

(2) Considering market growth along with

environment protection.

(3) Restricting people to buy only such

products which are needed by them.

(4) To start looking at newer avenues and

markets.

(5) None of these
72. Although admired since years, why did the

scepticism over the Japanese management

style start since the last decade?

(1) Japanese companies have been moving
out of their home markets since the
last decade.

(2) Japanese banks have provided loans
indiscriminately to the creditworthy as
well as non creditworthy people.

(3) Because Japanese markets have been
going through a period of continuous
recession since the last decade.

(4) The unlimited growth of the Japanese
markets has come at the cost of the
western market.

(5) None of these
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73.

74.

75.

76.

Why does the author foresee the markets
being created in the developing countries
in stead of America and Europe ?

(1) All developing countries
materialistic culture.

have

(2) Developed countries are willing to
make an effort to achieve
globalisation.

(3) American and European markets have
had a large number of credit defaulters.

(4) Recession has not hit the markets of
developing countries yet.

(5) None of these

According to the author, what is the main

cause of Japanese recession ?

(1) Only a handful of corporations earned
profits and not the people in general.

(2) Non creditworthy people defaulted
which led to a collapse of the entire
system.

(3) Consumers were sold newer products
which were similar in quality to the
existing ones.

(4) Japanese do not purchase endlessly
and thus when products had been sold
to every customer, the markets slowed
down.

(5) None of these

According to the passage, which of the

following was NOT an effect of providing

loans and credits to the customers ?

(A) The non-creditworthy people defaulted.

(B) People bought new products which
were not needed.

C) Poverty became non-existent.

(

(1) Only A (2) Only B

(3) OnlyAandB (4) OnlyBandC

(5) OnlyC

What does the author mean by

'Dustbinisation' of the customer ?

(1) Convincing the customer to buy
products he does not need.

(2) Denying the non-creditworthy people
of any loans.

(3) Denying more loans to people who have
already taken loans to a logical limit.

(4) Moving from old customers at the home
market to foreign markets.

(5) None of these

Ph:

Direction (77-78): Choose the word which is
most similar in meaning to the word printed in
bold as used i n the passage.

77.

78.

CATERING
(1) Considering (2) Lending
(3) Supplying (4) Working

(5) Indulging
KEY

(1) Foundation
(3) Requisite
(5) Important

(2) Solution
(4) Difficult

fDirection (79-80): Choose the word which is
MOST OPPOSITE in meaning of the word
printed in bold as used iii the passage.

79.

80.

CONSUMING

(1) Destroying (2) Exhausting
(3) Greedy (4) Curtailing
(5) Spending

SURGE

(1) Decrease
(3) Wealening
(5) Crumble

(2) Deteriorating
(4) Atrophy

Direction (81-85): Read each sentence to find
out whether there is any grammatical error in
it. The error, if any, will be in one part of the
sentence. The number of that part is the answer.
If there is no error, the answer is (5). (Ignore
the error of punctuation, if any)

81.

82.

83.

84.

85.

09555108888,

(1) The government is about to unveil a new
bill / (2) that aims to check human
trafficking by unifying / (3) several existing
laws, meting out tougher / (4) punishment
for repeated offenders. / (5) No error

(1) Tata Motors is in talks with a local
manufacturer in Tehran /(2) to set up a
joint venture to assemble its petrol cars (3)
in Iran as it looks to tap the fast-growing
market /(4) that has just emerged from
sanctions. /(5) No error

(1) An inflation ceiling poses risks /(2) in
the event of an economic contraction /(3)
like the one we had in 2008-09, /(4) when
inflation would have fallen. /(5) No error
(1) Many investors have left wondering /(2)
how to build a portfolio that can outperform
/(3) a market rattled .by the possibility of a
/(4) mid-year interest rate hike by the US
Federal Reserve. /(5) No error

(1) We humans have a tendency /(2) to not
take events at face value /(3) but peer deep
/(4) to glean more valuable meanings. /(5)
No error
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Directions (86-90): Rearrange the following six
sentences (A), (B), (C), (D), (E) and (F) in the
proper sequence to form a meaningful
paragraph and then answer the questions given
below.

(A) This initiative was launched in September
2014 by Prime Minister Narendra Modi and
the response from the manufacturers has
also been pretty encouraging.

(B) And this is exactly why "Make in India" has

been launched.

India will soon go on to become the
numerom uno globally for FDI amongst the
Asian countries and may surpass the USA
as well.

"Make in India", an invitation to
manufacture in India, is an initiative by
our government to help India become a
major manufacturing hub globally.

(E) The only thing require is ease of doing
business in the country.

(F) India is a country with vast potential, be it
manpower or infrastructure.

86. Which of the following would be the FIRST
sentence after rearrangement?

(€)

(D)

(1) A (2) B
3) F 4) D
(5) E

87. Which of the following would be the SECOND
sentence after rearrangement?

(1) E 2) A
) C 4) B
(5) D

88. Which of the following would be the THIRD
sentence after rearrangement?

(1) F 2) C
(3) D 4) B
(5) A

89. Which of the following would be the FOURTH
sentence after rearrangement?

(1) B (2) D
3) E (4) F
(5 C

90. Which of the following would be the LAST
(SIXTH) sentence after rearrangement?

(1) D (2) F
3) C 4) E
(5) B

Direction (91-100) : In the following passage,
some of the words have been left out, each of
which is indicated by a number. Find the
suitable word from the options given against
each number and fill up the blanks with
appropriate words to make the paragraph
meaningful.

Ph:
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Rural healthcare in India is ...(91)... by a huge
gap between supply and demand. Currently, rural
healthcare needs are ...(92)... either by limited
government facilities and private nursing homes,
which have not bean able to keep pace with
increasing demand, ...(93)... by a number of
quacks who practise medicine in rural areas. The
quality of infrastructure is usually poor and people
...(94)... up having to go to nearby large cities if
they need high-quality care.

Rural India deserves better, since the ability
to pay has gone up over the last few years, driven
by growth in income and penetration of
government healthcare programmes. Increasing
demand, ...(95)... with the failure of existing
infrastructure to scale, has resulted in rural
healthcare ...(96)... a large under-served market.
Absence of a viable business model
+«.(97)...conversion of the huge rural expenditure
on health into an economic activity that
generates incomes and ...(98)... the poor. It is
this ...(99)... that entrepreneurs are looking to

...(100)....

91. (1) performed (2) dsplayed
(3) furthered (4) characterised
(5) made

92. (1) stopped (2) met
(3) elevated (4) discussed
(5) set

93. (1) also (2) nor
(3) but (4) or
(5) and

94. (1) end (2) give
(3) fed (4) start
(5) set

95. (1) couple (2) combined
(3) mentioning (4) engaged
(5) resulting

96. (1) become (2) happening
(3) being (4) exists
(5) is

97. (1) to (2) makes
(3) so (4) ceasing
(5) prevents

98. (1) generates (2) supplies
(3) lists (4) turns
(5) serves

99. (1) gap (2) truth
(3) progress (4) catastrophes
(5) divides

100. (1) fills (2) access
(3) plug (4) form
(5) distance
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